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A LT T
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faeM 1; 3iidid dRds YR diESERIER diYfdedrar |ts ddi Bld.

Question: G 11: 3ficiia ARGSIUe SeHs HTa- UcP HH! FHIUI 3.
e fqemia= aex 9aig Hasr.

A: aiel faum 1 3foT 11 TRIeR 3R,

B: &8l [aeT 1 31101 11 el SHTed.

C: faur 1 RIS 318 W= [aur 11 g = 3118,

D: faur 1 gt 318 IR [au 11 SIeR 3118,

Topic: Chemistry-Section A

ltem No: 68

Question ID: 1569468

Question Type: | MCQ

Question: SR Y=l (299.95%) SABTAGIS e,

A: f3id a1fo1 goiar i sfyfeha.
B: W Saacls guR=- g UIudr] fdggd Suge-rH.
c. DT TJod SIS TASIAI%S SVl (Hod gaacls alae bl [dggd

D: f3id 31101 3r¥igd i gt HidhdH.




Topic:

Chemistry-Section A

Item No: 69

Question ID: 1569469

Question Type: | MCQ

Question: A R BH 38,
A Be>=Mg=Ca=5r
B Sr>Ca>Mg=>Be
C: Sr>=Be>=Mg=>=Ca
D Be>=5r>Mg=>=Ca
Topic: Chemistry-Section A
Item No: 70

Question ID: 1569470

Question Type: | MCQ

Question: NO, N,0, B,03, N,0s, CO, SO3, P40y
A: 3

B: 4

C: 5

D: 6

Topic: Chemistry-Section A

Item No: 71

Question ID: 1569471

Question Type: | MCQ

Tl HTe] Sica=al ARy Joral aXiax o 3Ts.

Question: 0 5 =
A: [Ni(en)3]*". B : [Ni(NH;)6]*". C : [Ni(H,0)g]

A: CxB=<A

B: B<(C<A

C: C<A<B

D: A<C<B

Topic: Chemistry-Section A

Item No: 72

Question ID: 1569472

Question Type: | MCQ




Il 1 =41 g1a] 11 SRIeR wilsdl e,

qret 1 qrat 11
A gehe I SiATEIh
B. RIS I1. BTSidl ashdl
Question:
c. Faifeq 1. YR&b
D. HIf$TH & IV. JUHTEI
grell fgcean waiaid g 3o Has:
A A-IL. B-III. C-IV. D-I
B: A-IV. B-IIL. C-II. D-I
C: A-IIL B-II. C-1. D-IV
D: A-IIL B-II. C-IV. D-I
Topic: Chemistry-Section A
Item No: 73
Question ID: 1569473
Question Type: | MCQ

wreite Hffbd=n g gdg 3Tg.

Question: W _2HBr
O
Br
S
A:
0O
Br Br
B: /I\I.I/D\/L\
O
Br Be
C:
O
Br
D: BF \/\H/O\/l\
0
Topic: Chemistry-Section A

Iltem No:

74




Question ID: 1569474
Question Type: | MCQ
T o 587 3dE S 318 2
Question: Ol11
H,0
O
O
A:
H)W
0 OH
B:
H
0 O
C:
H
O
D:
H /Lk’f)\
Topic: Chemistry-Section A
Item No: 75
Question ID: 1569475
Question Type: | MCQ

OH OH OH OH

Question: @ @\
NO, OCH;
NO, OCH,
(A) (B} (C) (D)

A: A>B>C=>D
B: B>A>C>D
C: D>=C=>=A=>B
D: D>C>B=>A
Topic: Chemistry-Section A

Iltem No:

76




Question ID: 1569476
Question Type: | MCQ
. = o
CH;3 - CH; - CN CH3Mg Br A Hay > B Zn—Hg
- Ether HCI
Question:
C = O IREA 3TE.
A: CH;-CHy—-CHy —-CHjy
0
B: ||
CH3—CHy—C—CHjy
OH
C: |
CH3—CHy —CH—CHy
D: CH3 —CHy —CH =CH>
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 1569477
Question Type: | MCQ
SilST e,
et 1 et 11
_FEIRE T
A AIEdH 66 I diged
B. &1 gdd dgalikd 11 feiy yist
Question:
C. S 9Icld dgaiies 111 SI2Td g
D <Ba IV. Wes Uil
(Jal.: A-IL, B-III, C-IV. D-I)
A: A-IIL B-I. C-IV. D-II
B: A-IIL B-IV. C-I. D-II
C: A.IL B-I. C-IV. D-III
D: A-IL B-IV, C-I. D-III
Topic: Chemistry-Section A
Iltem No: 78
Question ID: 1569478




Question Type:

MCQ

-7l HEld €1 31U ppac ol Heltd C2 giAdic MR RiisD 64

Question: e

A: B Fl I

B: ﬂT;lﬁx_:[

C: waeT

D: ST

Topic: Chemistry-Section A
Item No: 79

Question ID: 1569479

Question Type: | MCQ

Fle! el gao fgwimsia (u=nem) frarefta Fgur=n wARh §g gia.

Question: R TEURE.
A: SHehaTRTel R

B: Tae R M

C: YD R

D: SEEIEESIE

Topic: Chemistry-Section A
Item No: 80

Question ID: 1569480

Question Type: | MCQ

Question: Tl siR=eme] Sifiy Ar=ie e adrd =] TR B0,
A: CERIGIEEES

B feferamsiada®

C: BHIeTd &4

D SIS ¥

Topic: Chemistry-Section B
Item No: 81

Question ID: 1569481

Question Type:

Numeric Answer

Question:

56.0 ferex AGCIo g W gragIo aigeRieaR [H¥ecaraR 20 forex s
a1g TR L. dIURId = 3HTcled] e 9" STeRAME L 36,




Topic: Chemistry-Section B

Item No: 82

Question ID: 1569482

Question Type: | Numeric Answer

2 dm? AT % ST 11 ¢ W AT e, T ST 07 318 BT SR T4 2
MPa U&fT dTeaqall R dl Ped. SO dUAHRTIg Bedd  °C 3Ts.

Question:
[Slac=d] quUIiebTd]
(STYR FIHT: R = 8.3 TK ! mol!) U W C, H 3IHH 12u 310I 1u.

Topic: Chemistry-Section B

Item No: 83

Question ID: 1569483

Question Type: | Numeric Answer

BIASIGH U] n = 5 DDA Iulod seidei- Joo (&Udld @ieil ddl. Ieaoi

Question: : 3

@i Hftrdn g 3Ts.
Topic: Chemistry-Section B
Iltem No: 84

Question ID: 1569484

Question Type: | Numeric Answer

TS WaHT Sar- e [denaf @t et Sigfaet.
HCI + NaOH — NaCI + H,O AH=—-57.3 kI mol™!

Question: CH;COOH + NaOH — CH;COONa + H,0 AH =—55.3 kI mol'!
[l Sleedl CH;COOH =0T HIG--d! T=Ted] kJ mol ™!,

Topic: Chemistry-Section B

Item No: 85

Question ID: 1569485

Question Type: | Numeric Answer




U= SOgeEal.
CH;N, CHj(g) — CH; CHj(g) +N(g) Tl Ufget SIS sifHfaan 3ie. iwra:
STETd d@TERIER URdd 600 K &1 @ral foa 3iMg

Slope =— 3.465 x 10*

Question: p ]

In|—

pU
s

ST SelgdId  x 107s 3. [Sldcsed] Yulfela]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1569486

Question Type:

Numeric Answer

Question:

Xe0;. XeOF,, 3T XeF s Helid baeh SHU[AR UGVl fafderd Seiag= gl

p2pGall 318,
Topic: Chemistry-Section B
Iltem No: 87
Question ID: 1569487

Question Type:

Numeric Answer

Cr37/CrE™, M ™ /Mn?™, Fe¥/Fe2™ 31101 Co?7/Co?™ HHid SiH A Sadcis

Question: fqd S0T 31Tg. el M2 ST STUTH (spin) B G910 geg
B.M 31§, [facs<1 guNaId]

Topic: Chemistry-Section B

Iltem No: 88

Question ID: 1569488

Question Type:

Numeric Answer

Hifgd T HHISAS S Sehigiadl 75T 4.5 mg YIS HUREH

Question: SraisTssq figesd. &l /g dTex SHTel A STHRAM 3.1 ml Hiofe. &
Sfemigladl Ludid HX g mol™! T8,
Topic: Chemistry-Section B

Item No:

89




Question ID: 1569489

Question Type: | Numeric Answer

& T G ST auf TRg=TH @, HHIEIER Id UIaiH S1d® el 9T A
Question: - 30T 1B = Ieaid, YR INIRAT 3ic 3IPH 3.25 cm. 2.08 cm T 1.05

cm 378, H& 0D (R )T A: B I T 3Te.
Topic: Chemistry-Section B
Item No: 90

Question ID: 1569490

Question Type: | Numeric Answer

RO C5H,, AT SHedh-RE (R SrgEt safafea) qar gom=ar
U Sl It ueriHl U g 3HTS.

Question:




